“ )

CONTRACTOR: TIMBERLAKE ALUMINUM CONSTRUCTION
DESIGN CRITERIA:

Applicable Codes, Regulations, and Standards

1 The 2010 Florida Building Code, specifically Chapter 16 Structural Design,
Chapter 20 Aluminum, and Chapter 23 Wood

2 AA ASM 35 and Specifications for Alummum Structures, Part 1-A of the
Aluminum Design Manual prepared by The Alummum Association, Inc.
Washington, D C, 2005 Edition

3 ASCE7-10

Wind Loads
1 Building Occupancy Category, Paragraph 1604 5 and Table 1604 5

Risk Category 1,
2 Basic Wind Speed, Table 1609C, State of Florida Debris Region & Basic Wind
Speed, Paragraph 1609 3 1 and Table 1609 3 1 Equivalent Basic Wind Speed
VULT = 130 MPH, VASD = 101 MPH
3 Bxposure Category, Paragraph 160943 C
4 Building Category for Aluminum Structures, Paragraph 2002 6
Building Category 1 - Screen Enclosure / Screen Room: Non-Habitable
Unconditioned

Foundation Design
Existing concrete, No additional concrete footing or slab is required to resist the

Joads imposed by the proposed construction if the existing slab is a minimum 4"

thicl with an 8” x 8" thickened siab edge and in sound condition, free from
structural eracking, spalling, or other deterioration,

Specifications
The following specifications are applicable to this project:
1 Where concrete specifications are required, whether in the screen enclosure scope
or not, by one or more regulatory agency, the following specifications are
applicable

a. Congrete shall conform to ASTM C94 for the following components

1 Portland Cement Type 1,- ASTM C 150

1 Aggregates - Large Aggregate 3/4” max - ASTM C 33

L. Airentraming +/- 1% - ASTM C 260

v Water reducing agent - ASTM C 494

v Clean Potable water

vi.  Other admixtures not permitted

b Metal accessories shall conform to

1 Remforcing Bars - ASTM A615, grade 60

11, Welded wire fabric - ASTM A185
. Concrete slump at discharge chute not less than 3” or more than 5 Water

added after batching 1s not permitted
d Prepare and place concrete per American Concrete Institute Manual of
Standard Practice, Parts 1, 2, and 3 including hot weather
recommendations
Moist cure or polyethylene curing permitted
Prior to placing concrete, treat the entire subsurface area for termites n
compliance with the FBC
g Concrete shall be placed over a polyethylene vapor barrier
h All alummum components embedded within concrete shall be coated with
a bituminous paint or epoxy

2 Alummum extrusions shall be 6005 T5 Alloy
3 Fasteners are required to be SAE Grade 2 or better zinc plated
4 All Self Mating Beam Sections are to be stitched with either #14 screws 6” from
ends and 24” center to center or #12 screws 6" from ends and 12" center to center
5 The minimum nominal thickness of protector panels (kickplates) shail be an
industry standard of 0 024 mches.
6 Screened enclosures containing swimming pools shall comply with the applicable
requirements of FBC R4101 17 Residential Swimming Barrier requirements
7 Screen matenial shall be 18/14 screen unless approved by Suncoast Architecture &
Engmeering, LLC
8 Door location shall be determined by contractor m the field
9 When installing pavers over concrete slab or footing which are supporting
aluminum members, such as continuous screen tracks or upright, the pavers must
be bonded to the concrete with an epoxy, thinset, or 3,000 PSI grout to ensure full
positive contdet with concrete,
10 All flashing and weatherproofing shall be provided by the contractor
11 Design shall be based upon "PINNED" upright analysis unless approved by
Suncoast Architecture & Engineering, LLC

o

-0

=

Roof Type

¢ Roof Type: HIP GABLE / MONOSLOPE

»  Roof Material 3” x 48” x 0,032” composite panel Elite 2000, 1,0 density
foam, Florida Product Approval Number FL 7561-R2.

WIND SPEED AND EXPOSURE HAVE

BEEN DETERMINED USING THE ADVANCED

TECHNOLOGY COUNCIL'S WEBSITE

AND GOOGLE EARTH,

A
I —Cs%o”
. 1 2x2
’f
3 =
| 2X4
i PB
L3
1 3
J[ B
TED R
n \A-3/
I 2%8
fv%?,
y o B
2 %20
| 2XDJ
| =T 2X85M
=)
N
© 2
2%8
SMB
o ;
Al
)
2X8
- SMB
ID y..-’
A
w
2%8
J(—‘“—“» SMB
t
[=)
A
[(s]
2%8
p SMB
L} =
5 £
S )
2%8
" SMB
© i
A
w0 a
] 2X8
— SMB
H3
[=3 {
-l i
-
} 2%8
" ST
l? Z|
1) /
| L 2xe

X2(P)

— o —— — — e

e T s
. S 2 2X2(TYP)\ o b4
Jo 2X2 / _2X2 / 2X2. _2X2 2X2 \ 2X2
l_g zsl/as B2 % N\ O\
1'-g" 1"
0 AR 400" L
Ty ,
2X4 PB|EDGE BEAM
d
3 = HE 3
. m pd n
5 e A 2
Tl e, e
&8/ | & o
13'—=4" \]“ 13—-4" ]" 13-4
2X0SMB CARRIER BEAW
%y 8 § 4 o
2X8
SMB
] R R J 8
2X9
SMB
] J ey % R
2X89
SMB
xy 8 8 § g
2X9 "h
. SMB \4-3/
E L &
374 BEE IR ST I Y
2X8
SMB
I I
2X9
SMB
8 £ 8 8 8 % 8
2X9
ST D-1
2 I I I W AC:
2X2(TYP)
&
39'~9
1 ~—_ (-2
N T~ \4-3/
[Te)
.i 1%2(TYP)
5, %
| <+ ™
Wl

P

1X2(TYP)

NOT TO BE REPRODUCED IN WHOLE OR IN PART WITHOUT THE WRITTEN PERMISSION OF SUNCOAST ARCHITECTURE & ENGINEERING, LLC ©COPYRIGHT

o ,ﬂﬂ’&gﬁ??’!e,
y W
;}:‘S;‘GP: ..oct.‘.
N .
~Or o uw
“‘.,§: 2 0 O
e ) oW
v em g O e
“.U-\“ - © g
”,;?)) PR )
AR :
a,;(;g\ . ...‘:( \
4—7'—8" .9)‘ ?eooes M(.‘ e
2%2 ——T \ N ﬁi‘PﬁQFESﬁOI&A—)L‘rS%éaﬁ‘*
g "; xR Y 1AL
B-2 24
ry i )
2%4 2 u i
B j = =
g ] 2 <
0 <
| oxa | R
=2 J T =3
X i Z oy
n S sz
2X8 ) s
—————J[ v 23
. w e
o L S5
G 4 2 Bs
W o "o
o
a
© w
. ) E o
i O o g
© LLJ o R L
L % Eos s
. I gk o
© << EED 2
| - 28 3
| 0O WERSE &
5 < Z‘é‘dg’nq‘ b
| O GoEsd &
® O ZELie =
] Z Es%gg g
BELT
:ol wn OZQUEIE n%
©
| =)
= l- <
, o]
tlz 1
w . =
——Jf A 9
s L ]
T e =
a ¢
< £ 8
- 2 &
O erZ
D268
(D —_
O o
2 Bgs9
o oSom
DRAWN BY
SA
DATE DRAWN
10/09/13
REVISION
SHEET NO




O MAARD)
ALUMINUM MEMBERS DIMENSIONS o X Ay,
i I I A I KICK PLATE NOTES: R C,)S’\ sy NN,
_.—_——EIOLL(,’I“, SECTIONS 18 x2 % 2" EXTRUDED (1) 12" DIA. THRU BOLT w/ NYLOGK 1 002aAUM RO . R
X2 2"%2°x0046 | | 2. SGREWALL CORNERS X N
' ANGLE 6052 H-32 ALLOY EA - JAM NUT - IN LIEU OF NYLOCK JAM 3 100 B- 120 B WIND ZONES S Q . (‘L
2x3 2"x3"x0,050” SIDE I I NUT, JAM NUT w/ THREADLOCKER © USE %0 % 6/8' SMS 12" CIC o O ¢ [ Ly
2x4 2"x4"%0,050” |~ MAYBEUSED 4 1200 140 BVIND ZONES Fere 72 L Y,
2x5 2°x5"%0050" | © TIGHTEN TO CONTACT - DO NOT ¥ n =S.F O O " -
BRICK PAVERS D~ Frrg OVERTIGHTEN USE #0 x 6/8' SMS 8" CIC oo -
N _| 6. 140 C- 150 BWIND ZONES Lz W & K 2
OPEN BACK SECTIONS BONDED O . USE #8 x /8" SMS 6" C/C oAy f(? 34 18
Tx2 1"x2”x0040° CONGRETE \ 8. SCREW GIRT, BOTTOM wide b &
123 173 3" %0 045" N RAIL & BOTH SIDES S AN TR @&
b _ 7 MAXKICK PLATE HT = 86’ o\ < NG
SNAP SECTIONS y N T ONEN =
SNAP SECTIONS ~ e PR " ANGHO! EMBED.? 2 Xy e, -a ) 2
2 %2 Snap: 2712 x 0045 IRV Y Wi g N PR -
2% 38nap 2”%3”x0050” slAB/FooTING ||« . f - M o gy PR o
. " AP v ] & ‘ N “ A I %
2x4Snap 2" x4"x 0045 SEE PLAN . . P . I A I ?y;l,é '{“}“‘QQ k=
SELI MATING (SMB = , | PROFERSIONALSEAL %
b 1 ! !
T » » SIDE
2%43MB 2"x47x 00447 % 0100 SIDE VIEW 2 4/2' X 118" x (GIRT OR PURLIN | 4 g
2x58MB 2"x5"x0050"x 0100 WIDTH + 1/2" x BEAM DEPTH LU (@)
2% 6SMB 2" x6”x 0050”x 0 120 X OR UPRIGHT DEPTH -1/2') | '-‘z-' wi 9
" % 7% 0 057" » v ALUM BACKING PLATE 2 :
2%TSMB 2°x7"x0057% 0 120” (1) 816" DIA, CONCRETE [T . 0 & g
2x8SMB 2"x8"x0072"x 0124 SCREW ANCHORS | l UPRIGHT l - 5
2x9SMB 2"x9"x0072°x 0 124" (2 1/4" CONC EMBED) E é 3 E
2x 10SMB 27 x 10" x 0092” x 0.398 %\ | | (910 %1 112 SMS INTO 3 < ¢ 4
SCREW BOSSES ¢
MINIMUM FASTENER EDGE DISTANCE. 12 e e | }=— - 1 % 2" BASE PLATE R % QO: il E
v \ L X
MINIMUM FASTENER SPACING 3/4 orioK pAvERS 82828253 ggRCEWEN% w y 2" ORZ 0" | : 2 s é ]
CONCRETE SCREW ANCHOR; {MIN 1 1/4" CONC, EMBED) MEMBER i z B
SIMPSON TITEN HD OR EQUIVALENT 8 MAX EACH SIDE OF POST | L. =g E
SHEET METAL SCREWS (SMS)" PE AND 24" 0.C MAX | Q mz =
TTW / BUILDEX OR EQUIVALENT N B . | £ B2 z
S VR SNAP OR SELF-MATING BEAM 5
ONLY
SLAB/FOOTING | % & N P | A l 8
SEE PLAN . 5
(AW [
FRONT VIEW m e o
m C \PURLIN OR GIRT TO BEAM OR POST DETAIL =) <13
B \2"x 4" OR LARGER UPRIGHT TO CONCRETE W/PAVERS DETAIL @ SCALE. NTS 3 ) 812
A-2 SCALE, NTS w S g E
=g SiE
I »
5 Uk 8| &
e Zc g E
< i, gl=z
R  |
FOR STAND-ALONE LS EREs s
SCREEN ENCLOSURES < = EEd4 22
FOR SLOPED BEAMS, 8 o EE RR BIE
MAINTAIN VERTICAL EDGE LINE > BERR g
o 2' x PURLINS ATTACHED TO n3 5
AND 8167 EDGE SPAGING BEAM WIMIN (4) #10x 1 1/2' SMS BEAMS BUTT TOGETHER Side 3 §§ o 1
B AgRE 2L
2x2 PURLIN - NOTCH BOTTOM £
aH6' 5052-H32 GUSSET FLANGE TO OVERLAP UPRIGHT a 6
u
2x2 x1/8 5052 H32 ANGLE EA SIDE g 9
(8) #14 x 3/4" SMS THRU 14 E
BEAM OR UPRIGHT WALL 2x2' x0.062' 5052-H32 RECEIVING w z
SELF-MATING BEAM & GUSET PLATE EA SIDE CHANNEL = a
. o]
a 9 2
2" x 2 GIRT SECTION - NOTCHING vy o o o
BEAM AND GUSSET FOR CONTINUOUS Z'x2 EXTRUSION ‘;.E S ‘é
GIRT NOT PERMITTED N a .
1"x 2' X 0 044" OPEN BACK INTERNALY ‘ | a VA £
SCREW TO UPRIGHT Wi (2) #10x 1 12 (2) #12 x 3/4" EACH LEG < Mo e
SMS & FASTEN TO EAVE RAIL W —— | EAGH SIDE SCREWS SHALL w 8 |b
#10x 1 1/2' SMS SPACED 6 FROM ENGAGE BOTH PURLIN AND B B> O 2
oAt = UPRIGHT AND AT 24 OC. | UPRIGHT mopzk«g
B062-H-32 X 3/16™-INTERNAL GUSSET 41/2" FOR BEAM SIZETO 8" | ‘ 3 ua <qu %
PLATE - GUSSET TO FIT BETWEEN 5 1/2" FOR BEAM SIZE B &7" / o
SCREW BOSSES 6 1/2' FOR BEAM SIZE®' & 10° NOTCH POST AS REQUIRED | | £ H8x9
14" FOR 2' x2' EAVE RAIL o Hagy
" L masmMs@1 co | — UPRIGHT
(8) #14x 3/4 SMSTHRU BEAM OR NOTES: | | DRAWN BY
UPRIGHT WALL & GUSET PLATE EA SIDE 4 (MIN) UPRIGHT FOR BEAM 1 BUSSET DIMENSIONS ARE MINIMUM (2) I l SA
SIZETO® REQID - (1) EA SIDE OF BEAM - MAY BE
5' (MIN) - FOR BEAM SIZE TERAL OF EXTERNAL - PATE DRAWN
6" 7as 2. AS BEAM SIZE CHANGES, ADD OR 10/09/13
6" (MIN) FOR BEAM SUBTRACT SCREWS TO MAINTAIN 1 CIC
SIZES & 10" SPACING. REVISION
3. GUSSET LENGTHS REMAIN CONSTANT A -
WIDTHS CHANGE TO MATCH BEAM SIZE, -
@UPRIGHT TO BEAM CONNECTIO m A
@ SCALE. NTS - mTYPICAL INTERNAL OR EXTERNAL GUSSET DETAIL - RIGID MEDIUM SLOPED PURLIN CONNECTION DETAIL SHEET NO
w SCALE.NTS @ SCALE.NTS




EEEFTEE

crea

1
p,‘&
KICK PLATE NOTES: 5*
1 0,024 ALUM 0\ @P‘
2. SCREWALL CORNERS & ot
3, 100 B- 120 B WIND ZONES > /;;.Y‘ .
USE #8 x 5/8" SMS 12' CIC SRS
4. 120C - 140 B WIND ZONES SOy
USE #8 x 6/8' SMS 8' C/C -
5. 140 C - 150 B WIND ZONES WO, N
USE #8 x 5/& SMS 6" C/C - — w g
6. SCREW GIRT, BOTTOM AT &)
RAIL & BOTH SIDES L
7 MAXKICK PLATE HT = 38' . LR P .
| ! l - ‘\;\,.‘» ”" ray
N NG R
| OPTION 2 | | -‘;,’cS\ o PR AR o
(I 0040' x 1 4/8"x2"x 1 /8" 10 88 GABLE Y it 4‘?0 v
OPTION 1 | | RECEIVING CHANNEL. | | 3 %3 x0,093" i PRon_FesLiloNA[s“/;L“v‘
2'x 2 x 1/8 ANGLE W/ W (3) #10 X 34" INTO | /'_‘ POST /\ epretsotyred
(4) #10 x 5/8' EACH SIDE | [ GIRT EACH FACE & (3) (2) 3/8" DIA. CONCRETE
#10 X 3/4" INTO UPRIGHT SCREW ANCHORS | | §§ 5
T (" CONC. EMBED) | | élé i :
e 2 u
T ; - | | § SLABIFOOTER o &
L T 1"x 2' OB W/ 1/4' CONCRETE | | INTERNAL/EXTERNAL ¥ MID DEPTH E < .
SCREW ANCHOR 6' 3" x 3" x 1/8' EXTRUDED L | (UR=
FROM UPRIGHT & @ | | POST BASE W/ (2) 3/8" D ’ ~ g
CHAIR RAIL MEMBER I 24"0C (MIN 3 EMBED) DIA. THRU BOLTS a <2£ g 3
w
| I 3X3X0 093 POST ) % 9
S 7)) o
| - e ] u&.: Z 3
| I ¢ i %, 3/8' DIA. x 3" EMBED SLAB/ FOOTING ol
L < . & <& CONC SCREW ANCHOR SEE PLAN O B =
v L P o B~ 9
w b o o
: e ¢
Ed
&
mPURLIN OR GIRT TO BEAM OR POST DETAIL ®3|- % 3" POST TO CONCRETE CONNECTION DETAIL mCABLE CONNECTIONS AT FOUNDATION =) g
A-3 SCALE. NTS _ SCALE. NTS A-3 ' b 2
m 9 g
-8 i)
— «
T 5 2
S 9 & g
SEE. &
I
1/8' x 2 x2° EXTRUDED "u_y wEnes 3
ANGLE 5052 H-32'ALLOY EA g Z kY § & s
SIDE A ok o g g
| [ 2"x 5" ALUM STRAP O3> ESep 3
| 6063-T6 ALUMINUM Z ToERE 8
t——————UPRIGHT W (4) #14" x 3/4" IN EACH -] 5 ] &
| | LEG & (2)#10x 3 (%3] Oaﬂur‘—‘lu. o
' TOE SCREWS THRU (9) #14 x 3/4 SMS
) T BOTTOM OR SIDES o
" L o 1 x2' 0.B, BASE PLATE - TYP 118' PLATE ON 45° ANGLE <
i : 116 Mcone 4 6063-T6 ALUMINUM 2
2 114 MIN CONC © | ANCHOR EFBEDMENT Jr {.
g}\NCH()R EMBEDQP&ENT ry N — & Lu
> LR DL :sf 5d MIN EDGE DISTANCE FROM %
SLAB/FOOTING | l——r— e I—EXTERIOR OF COLUMN TO Ao
SEE PLAN « s e LS OUTSIDE EDGE OF SLAB [Ve) -LI_!.I
L
SIDE VIEW e i
(1) 1/2" DIA. THRU BOLT w/ NYLOCK o ©
JAM NUT - IN LIEU OF NYLOCK JAM ]
| ] NUT, JAM NUT w/ THREADLOCKER DETAIL#2 EYE BOLT FOR CABLE TENSION < l(J/—J) g
(2) /8" DIA, CONCRETE MAY BE USED b D
SCREW ANCHORS | | TIGHTEN TO CONTACT - DO NOT e E <
(2 1/4' CONC. EMBED) OVERTIGHTEN =4 =4 o
I 2"x 5' ALUM STRAP oOYuoLE
| 6063-T6 ALUMINUM rBXO
I — W/ (4) #14" x 34" IN EACH o W<z
. . —\ . LEG & (2) #10 x 3" PERIMETER FRAMING L i3
T~ e | DAY
<P ‘7« | 1 x 2 BASE PLATE ANCHORED TO | SA
(I B 94, CONC W/ 4/4" CONCRETE SCREW
# s ] ANCHOR (MIN 1 1/4 EMBED) N DATE DRAWN
SLAB/FOOTING “ » o 6" MAX EACH SIDE OF POST AND
SEE PLAN s ae | 2r'oc uax 10/09/13
FRONT VIEW REVISION

@2" x 4" OR LARGER UPRIGHT TO CONCRETE DETAIL

&

SCALE:NTS

DETAIL #{
@ROOF BRACING DETAIL
SCALE. NTS

A-3

@CABLE CONNECTION AT CORNER

&,

SCALE. NTS

NOT TO BE REPRODUCED IN WHOLE OR IN PART WITHOUT THE WRITTEN PERMISSION OF SUNCOAST ARCHITECTURE & ENGINEERING, LLC ©@COPYRIGHT

N

A -

SHEET NO

A-3




(4) #12 x4 SMS
W/ NEOPRENE
WASHERS PER

PANEL

2'%4 0,050 TOP RAIL- i
NO ANGLE REQUIRED
UNLESS SPLICED OR ~= 0!
CORNER - ATTAGH W/ (4) |
#0XE LG | ||
2 x___UPRIGHT_/ I ||
SEE PWG. FOR -
UPRIGHT SIZE - .
2 x4
TOP RAIL w/
(4) #10 x 5" SMS
INTO POST

2'x2' x3"'L6
x 1/8' ANGLE

(4) #10 x 3/4" (4) #10x 3/4
8MS INTO SMS INTO
SCREW BOSSES

SCREW BOSSES
(2) INTO TOP RAIL
(2) INTO POST

(2) INTO TOP RAIL
(2} INTO POST

CONNECTION AT CORNER CONNECTION AT SPLIGE

/—8\2 X4 TOP RAIL CONNECTIONTO 2 X UPRIGHT
A_4 SCALE:NTS

1"x 2' x 1/8' FLANGED-CHANNEL GUTTER
BRACKET AT PURLIN LOCATIONS

(2)#10 x 3/4"SMS INTO
GUTTER LIP 4 1/2" x 8" x 1 1/2" x 0.050"
RECEIVING CHANNEL W/
"T(1) #10 x 1/2' TEK SCREWS
@8"oc

1 x2" EXTRUSION
INTERNALLY SCREWED
TO BEAM W/ (2) #10% 2'

INTO SCREW BOSS 3' COMPOSITE ROOF

(4) #14 x 3/4 SMSW/
NEOPRENE FACED

2'x 2 x1/8"X2"LONG WASHER EA PANEL
ALUM ANGLE EA SIDE

OF BEAM W/ (2) #114 x

| 2' x SMB
3/4 SMS EACH FLANGE CARRIER BEAM
N3 x ¥ x 0,008
SUPER GUTTER iy POST
TN
N\\_(@) 38" DIA,
THRU BOLTS
(2)#14 x 314 SMS
d _I\,__.__ L

@ GUTTER BRACE TO POST TO ROOF PANEL ATTACHMENT DETAIL
A-4 SCALE. NTS

FOR SLOPED BEAMS,
MAINTAIN 6/8' SCREW SPACING

SELF-MATING BEAM - NOTCH _FROM EDGE OF BEAM " 18y

FOR UPRIGHT
(6) #14 x 314" SMS “

0,082 INTERNAL BACKING PLATE

TO ENGAGE ALLSCREWS '\

2 %2 GIRT SECTION - ATTACHED

~

asionay seAL®

1" TYP
TO BEAM w/ (4) 1 1/2" 8MS

1" x 2" OPEN BACK GIRT SECTION
ATTACHED THRU UPRIGHT TO
BEAM WI(2) #10 x 1 1/2' SMS &

TO GIRT W/#10 x 1 1/2' SMS 24 C/C

(6) #14 x 3/4 SMS 2" x 2" % 0 090" ANGLE
S (4)#14 x 3/4' SMS
EACH FLANGE

5/8" TYP @ EDGE

4" (MIN) UPRIGHT

@UPRIGHT TO BEAM CONNECTION

A-4 SCALE. NTS

PROFESSIONAL ENGINEER

STEVEN MORAGA, P.E.
FLORIDA LICENSE: 64609

1"x2 OB FASTENED TO CORNER
POST W/#12x 1 1/2' SM8 AT 6' FROM

TOP & BOTTOM RAILS. TYPICALLY @
| 24 OC.

118' x 2' x 2" EXTRUDED ANGLE 56052
l H-32 ALLOY EA CORNER W/ (2) #14 x 2'

l SMS INTO POST & (1) 3/8' DIA,
-] 4 /——CONCRETE SCREWANCHOR INTO

_11

CORNER F’OST—\

CONCRETE
| | 1=
) #10x 112 SMs___| et |
THRU SCREWBOSSES L1 | _ )
] v )
2 1/4" MIN CONG
PP o |ANCHOR EMBEDMENT
SLAB/ FOOTING a ’
SEE PLAN wh
# o
SIDE VIEW
7 CORNER POSTW/ 1 x2 @
(4) #14 X 314" SMS N BACKSIDE
INTO POST

T
(- 318 x LENGTH AS REQUIRED
r | FOR 2 1/4 EMBED CONCRETE

SCREWANCHOR INTO
— | CONGRETE
1" x 2 BASE PLATE L

ANCHORED TO CONCW/ 114 [ =, | ; N
CONCRETE SCREWANCHOR _{/ | @
(MIN 11/4 EMBED) )

6 MAX EACH SIDEOF POST _J # 1 .4

“ . § 1
AND 24 0.C MAX% M IR
g IR

oy e{l -
4 ¢
v A e
% Ay 4 “’ “ o
FRONT VIEW

@CORNER POST TO CONCRETE DETAIL
A-4 SCALE, NTS

1" x 2" 0.B. FASTENED TO CORNER

]_I\'] POST W/#12 x 1 1/2 SMS AT 6" FROM
TOP & BOTTOM RAILS. TYPICALLY @
| | | 24 0C.
| 1/8"x 2" x 2" EXTRUDED ANGLE 5052
CORNER POST l I I H-32 ALLOY EA CORNER W/ (2) #14x 2'
SMS INTO POST & (1) 3/8' DIA.
(6 /_—CONCRETE SCREWANCHOR INTO
| i CONCRETE
-
(2 #10x 1112 SMS____| J:’ 2]
THRU ScREwBossES — || | _
f ; [
c e 21/4 MIN CONC
SLAB/FOOTING v g & |ANCHOR EMBEDMENT
SEE PLAN Hev
SIDE VIEW
T—Z—w CORNER POSTW/1 x2' @
(4) #14 x 34" SMS | BACKSIDE

INTO POST

3/8' x LENGTH AS REQUIRED
FOR 2 1/4 EMBED CONCRETE

/— SCREWANCHOR INTO
CONCRETE

1" x 2" BASE PLATE
ANCHORED TO CONC W/ 1/4"
CONCRETE SCREWANCHOR __/

(MIN 1 1/4" EMBED)
6' MAX EACH SIDE OF POST
AND 24" 0.C MAX

ERONT VIEW
MCORNER POST TO CONCRETE W/PAVERS DETAIL
A"4 SCALE. NTS

(4) #14 x 3/4" SMS

/_m'ro DJ
¥

1/8' x 2' x 2" EXTRUDED
ANGLE 5052 H-32 ALLOY

BRICK PAVERS
BONDED TO \
CONCRETE—\
- oA s * .
g .
4

P 2174 MIN
@ .
SLAB/ FOUTING ¢ & wg . CONG
SEE PLAN " 4 ANCHOR
: « “ EMBEDMENT
é tha N

SCREW ANCHORS

/—(2 114 CONC EMBED)
1

13

1" x 2 BASE PLATE
ANCHORED TO CONC W/ 1/4"
CONCRETE SCREW ANCHOR _A

(MIN 1 1/4' EMBED)
6' MAX EACH SIDE OF POST
AND 24" 0.C MAX x‘

I 2 x4
(4) #14 % 3/4" SMS |
iNTO DJ—\ # {1) 3/8' DIA, CONCRETE
'|

b
PO
. L %:
“ o= « y
4 1 {
FRONT VIEW

@DOOR JAMB TO CONCRETE W/ PAVERS DETAIL
A-d SCALE. NTS

SUNCOAST ARCHITECTURE
& ENGINEERING, LLC
13630 58TH STREET NORTH SUITE 101

CLEARWATER FL. 33760
TEL: (727} 532-9000

FAX: (727) 5320008

PROJECT ADDRESS

PEELER

1258 SW SISTERS WELCOME ROAD
KE CITY

FLORIDA 32008

DRAW

2| LA

w
=<

SA

DATE DRAWN
10/09/13

REVISION

SHEET NO

A-4

FLORIDA LICENSES: AA26001769 & CA #28841

NOT TO BE REFRODUCED I WHOLE OR IN PART WITHOUT THE WRITTEN PERMISSION OF SUNCOAST ARCHITECTURE & ENGINEERING, LLC ©COFYRIGHT




